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ELECTIVE COURSE : COMMERCE 

ECO-2 ACCOUNTANCY-I 

Time : 2 Hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : Attempt any four questions, including question no. 1 

which is compulsory. 

1. 	Attempt any two questions from the following : 7+7 
(a) What are the advantages of accounting ? 
(b) Distinguish between Capital Expenditure 

and Revenue Expenditure with examples. 
(c) Make a clear distinction between 'Sale' and 

'Goods Sent on Consignment'. 
(d) What is Single Entry System of 

Book-keeping ? How has Double Entry 
System removed its limitations ? 

2. 	(a) What are the Rules for recording business 6+6 
transactions in Journal ? 

(b) Pass the Journal Entries for the following : 
(i) Credit sales to Sahil, 15,000. 
(ii) Cash received from Sahil in full 

settlement of his account, Rs. 14,750. 
(iii) Office rent due 5,000; paid only 

Rs. 3,000. 
(iv) Loss of stock by fire, Rs. 8,500. 

ECO-2 	 1 	 P.T.O. 



3. (a) What are the differences between 'Receipts 6+6 
and Payments Account' and 'Income and 
Expenditure Account' ? 

(b) Make a distinction between Provisions and 
Reserves. 

4. From the following Ledger balances and adjoining 
information, you are required to prepare a 12 
Trading and Profit and Loss Account for the year 
ended on 31st March 2012 and the Balance Sheet 
as on that date. 

Particulars Dr. Cr. 
Opening Stock 40000 - 
Purchases 4,10,000 - 
Sales - 4,29,000 
Purchases Returns - 1,250 
Sales Returns 2,500 - 
Carriage inward 1,500 - 
Carriage Outward 2,500 - 
Bank Overdraft - 21,000 
Cash 4,000 - 
Capital - 1,27,750 
Sundry Creditors - 37,500 
Loans - 41,375 
Investments 10,000 - 
Accrued incomes 600 - 
Machinery 47,500 - 
Drawings 10,000 - 
Wages 11,000 - 
Salaries 7,300 - 
Outstanding Expenses - 1,000 
Prepaid Expenses 750 - 
Postage 900 - 
Discount Received - 375 
Discount Allowed 1,000 - 
Bad Debts 750 - 
Debtors 1,00,000 - 
Interest Paid 3,500 - 
Interest Received - 300 
Provision for Bad debts - 1,750 
Furniture and Fixtures 7,500 - 

6,61,300 6,61,300 
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Other Information : 
(a) Unsold Stock 	 1,10,000 
(b) Depreciate Machinery by 	 10% 
(c) Tax Payable 	 7,500 
(d) Accrued Interest on Investment 	1,200 

	

5. 	Pass the necessary Journal entries for the 	12 
rectification of following accounting errors : 
(a) Purchase of LCD Projector debited to 

Purchase Account Rs. 50,000. 
(b) Credit Sales of 720 recorded in Sales Journal 

as Rs. 270. 
(c) Credit Sales of 1,500 rupees to Sameer was 

omitted from being recorded in books. 
(d) Sameer had paid Rs. 1,000 but it was 

credited to Rahim's account. 
(e) Discount Allowed column of Cash Book was 

overcast by Rs. 75. 
(f) Sales Book was under cast by Rs. 550. 

	

6. 	Prepare Machinery Account for the years 2007 	12 
to 2011. 
On 30th June 2007, a business man purchased 
machinery for Rs. 10,000 and spent on its 
installation Rs. 1000. It charged depreciation @ 
10% annually according to Fixed Instalual 
method of charging depreciation. On 30-6-2009, 
he added another machinery costing Rs. 8,000. 
On 30-6-2011, the machinery purchased on 
30-6-2007 was sold for Rs. 5,000. 
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